H & 0l & AHS B Ml A

SN 24H
M =0l OFE MHIA HZ(EAH)

Cel: §8H0 A4H 29 (CHo M)
A -3 - AA(3H) - MRAY - BE= 0ff &r2H Jl & o Hns2
ESH 1,432,110 1,439,245 AT7,135
0| OI= MHIA HZ2(2AD) 560,978 566,373 15,395
S8X0 MM 29 560,978 566,373 15,395
FoIAy XRA(EHH) 174,660 178,700 24,040

201 LA 5,960 10,000 24,040
01 AFR2t2IH] 3,220 7,000 A3,780
OMOI=23| 3o &apg
ZA 3,220,000 3,220 7,000 A3,780
03 SAF2H| 2,740 3,000 A260
OSEUAZAMEEY| Z=2HA}
ZH 2,740,000 2,740 3,000 260
HERY L 2AC|(EHH) 127,445 127,925 A480
401 AIEHIL L0 14,220 14,700 2480
01 Al&H| 14,220 14,700 2480
(@ES=E-rSPNESge ZA 9,700,000 9,700 10,000 A300
ORIED ot™Me2|(LER2]) AX
ZA 4,520,000 4,520 4,700 A180
FOIXXINE 2H(EALH) 16,325 17,200 A\875
201 LBt 14,825 15,700 A875
01 Al22218l 12,825 13,700 N875
Oszlo|4=& ZA 9,625,000 9,625 10,500 N875
FOIHOIZAl XL (EAH) 554,000 554,000 0
ZEU= XGNL(ELH) 554,000 554,000 0
ARE FOI=AAIH(EAHH) 400,000 400,000 0
401 AlEHIL 200 400,000 400,000 0
01 Al&HI 400,000 400,000 0
OEH OISHEHIBAH1A) A 02 0 10,000 210,000
OAHE =2 EZAHL=100m)
I3 02 0 10,000 A 10,000
OAI= 022 EH|Z AHL=100m)
A 0 0 10,000 A 10,000
OHIE HH2=2AH| 2 AHL=100m)
A 02 0 20,000 220,000
OHI= 0122 EHIZ AHL=16m)
23X 30,663,000 30,663 30,000 663
OEHA HH2=Z2 A H|Z AHL=100m)
A 0 0 15,000 A 15,000
OZtat HH =2 = H|Z AHL=100m)
A 02 0 15,000 15,000
QA Hi2=2 A H| 2 AHL=100m)
I3 02 0 20,000 220,000
OLH& HIE A HIZ AHL=100m)
A 0 0 25,000 225,000
O23 IS IAM 212 AHL=150m)
23X 0 0 10,000 10,000




SN 24H
I ZDIHOIZA! XL (EAH)
el PEUE NSNS (RLH) (EEEE))
A -3 - AA(3H) - MRAY - BE= 0ff &r2H Jl & o Hns2
OXI= OISHEHIZAH1A!) A 02 0 10,000 10,000
OXILH 2HRAHR otE A 24 X2 AHL=500m
) I3 o2 0 10,000 A 10,000
OH& 4t OF2 02 EH| (L=64m)
A 14,190,000 14,190 15,000 A810
OEE IISHHIBAH1A) a3 02 0 10,000 210,000
OstE =2 AT AHL=45m)
23X 13,804,000 13,804 15,000 A1,19%
OZZ HH=2FH|ZAHL=20m)
AR 24,457,000 24,457 20,000 4,457
OAMRE S2ITEZAHL=82n)
23H 21,360,000 21,360 20,000 1,360
O0I2 D2 IAM 212 AHL=150m)
I3 02 0 10,000 210,000
O2 Al BHZ=2ZH|Z AHL=100m)
A 0 0 15,000 A 15,000
Oss =2 A H|Z AHL=100m)
A 02 0 20,000 220,000
OUS HIEZHIZAH(L=200m)
I3 02 0 25,000 225,000
O2AF FSHIISLEHEZEHZAH1A!)
A 0 0 30,000 230,000
OZg 022 A HI S AHL=40m)
22X 23,462,000 23,462 15,000 8,462
ODES NEEHIBAHL=23n)
A 16,917,000 16,917 20,000 A3,083
OAI=Z OSO0IARH M RI| 2 AHA=278M) 9,685 0 9,685
OHIS 023|222 2 AHL=72n) 7.129 0 7,129
Ozat OS2 EHIZ AHL=19m) 27,335 0 27,335
OLH& 01202 A2 AHL=59M) 28,581 0 28,581
OHIZ20ISCIZFHIZA S 1124 AAl8HE
o 20,640 0 20,640
OEE 0+=2e+2 HHIZ AHL=28m) 8,192 0 8,19
OYH(EE)T2MAHAAME (14]) 14,550 0 14,550
OO0IZ OISO0IA2SM 2T 2 AHA=350M) 12,369 0 12,369
OLS ASIEZATAH1A!) 13,750 0 13,750
OME (A ) =2/ HAAS (141) 9,700 0 9,700
O2IS OISCHA0ABR M RI| 2 AHA=1185M") 35,1 0 35,19
O2# Hi =2 = H|Z AHL=156m) 39,912 0 39,912
OS82 NISUHZOAZ M RI| 2 AHA=100m) 10,29 0 10,29
OFHA Or2312HH12+ 2 A X2 AHL=11m) 14,145 0 14,145
O=H , DSOISBAFE AR (14]) 1,050 0 1,050
O0IS e EH|ZAH1A!) 2,619 0 2,619
HHLSAHH|(RALH) 317,132 318,872 A1,740
[2AH(RAHH) 76,232 77,972 1,740
JI2ZH|(&AH) 76,232 77,972 A1,740
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